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2kmIRF AT [2kmIRFART [N Yh8 B ARF riaE #eth 0:08:27
2kmEBFART [2kmEBFRT 258% K& %3/ bO3F el Feh 0:10:25
2kmERFART [2kmIRFRT iEK Ek YA vak LD AHIRC FT=Y ] FETh 0:10:29
2kmEIRFART [2kmEIRFART 4| L% K& Y& 44aF s Fiam 0:10:38
2kmERFART [2kmRFRT 51#A R1T 114 7¥1% FaE #eth 0:11:20
2kmERFART [2kmiRFRT 6|ME K thy'v a9y FagE iam 0:11:22
2kmEBF AT [2kmEBRFR7 11ES & Y] Y1yl Fimg KRE™T 0:11:27
2km#BFART | 2kmEBFRT 8|11 RF Y44 bEQ ETC] eTh 0:11:36
2kmEB FART [2kmEBFR7T ofEmE IEF [t4/ V103 ETC] HEm 0:11:57
2kmEBF AT | 2kmEBRF A7 10|2 H{EHE w1 FimE INFRTH 0:12:08




